

An exact propagator for a time-dependent harmonic oscillator with a time-dependent inverse square potential

This article has been downloaded from IOPscience. Please scroll down to see the full text article.

1987 J. Phys. A: Math. Gen. 20 3771

(<http://iopscience.iop.org/0305-4470/20/12/026>)

View [the table of contents for this issue](#), or go to the [journal homepage](#) for more

Download details:

IP Address: 129.252.86.83

The article was downloaded on 31/05/2010 at 20:29

Please note that [terms and conditions apply](#).

An exact propagator for a time-dependent harmonic oscillator with a time-dependent inverse square potential

Bin Kang Cheng[†] and F T Chan[‡]

[†] Departamento de Física, Universidade Federal do Paraná, Caixa Postal 19.081, 81.504 Curitiba, Brazil

[‡] Department of Physics, University of Arkansas, Fayetteville, Arkansas 72701, USA

Received 30 April 1986, in final form 27 October 1986

Abstract. Using Feynman's polygonal paths for path integrals, the exact evaluation of the propagator for a time-dependent harmonic oscillator with a time-dependent inverse square potential becomes possible. The propagator at and beyond caustics is then evaluated by including the Maslov correction factor. Finally, we obtain the wavefunctions from the propagator obtained.

In this paper we consider a harmonic oscillator with time-dependent mass $M(t)$ and frequency $\omega(t)$ moving in one dimension under a time-dependent inverse square potential. The Lagrangian is given by

$$L(\dot{x}, x, t) = \frac{1}{2}M(t)(\dot{x}^2 - \omega^2(t)x^2) - g(t)/x^2 \tag{1}$$

where $M(t)g(t) > -\hbar^2/8$ to avoid 'the fall to the centre' (Landau and Lifshitz 1958). We shall restrict ourselves to studying the region $x \geq 0$ only since the solution in this region can be extended to $x < 0$ by using analytic continuation. For later convenience, we set $r' = r(t')$, $r'' = r(t'')$ and $r_j = r(t' + j\varepsilon)$ ($\varepsilon = (t'' - t')/N$) for any function $r(t)$ of time t .

Using Feynman's polygonal paths (Feynman and Hibbs 1965), the short-time action can be written as

$$\begin{aligned} S_j(x_{j-1}, x_j) &= \frac{M_j}{2\varepsilon}(x_j - x_{j-1})^2 - \frac{\varepsilon}{2}M_j\omega_j^2x_j^2 - \frac{\varepsilon g_j}{x_jx_{j-1}} \\ &= \frac{M_j}{2}\left(\frac{x_j^2 + x_{j-1}^2}{\varepsilon} - \varepsilon\omega_j^2x_j^2\right) - \left(\frac{M_jx_jx_{j-1}}{\varepsilon} + \frac{\hbar^2(\nu_j^2 - \frac{1}{4})}{2M_jx_jx_{j-1}}\right) \end{aligned} \tag{2}$$

with $\nu_j = \frac{1}{2}(1 + 8M_jg_j/\hbar^2)^{1/2}$. Applying the asymptotic form of the modified Bessel function

$$I_{\nu_j}(u/\varepsilon) = (\varepsilon/2\pi u)^{1/2} \exp\left(\frac{u}{\varepsilon} - \frac{\varepsilon}{2u}(\nu_j^2 - \frac{1}{4}) + O(\varepsilon^2)\right) \tag{3}$$

for small ε , we have

$$\begin{aligned} \exp\left(\frac{i}{\hbar} \sum_{j=1}^N S_j(x_{j-1}, x_j)\right) &= \prod_{j=1}^N \left(\frac{2\pi M_j x_j x_{j-1}}{i\hbar\varepsilon}\right)^{1/2} I_{\nu_j}\left(\frac{M_j x_j x_{j-1}}{i\hbar\varepsilon}\right) \\ &\times \exp\left[\frac{iM_j}{2\hbar}\left(\frac{x_j^2 + x_{j-1}^2}{\varepsilon} - \varepsilon\omega_j^2x_j^2\right)\right]. \end{aligned} \tag{4}$$

Therefore the propagator is of the form

$$\begin{aligned}
 K(x'', t''; x', t') &= (x'x'')^{1/2} \lim_{N \rightarrow \infty} (-i\beta'') \exp[\frac{1}{2}i(\beta_1x'^2 + \beta''x''^2)] \\
 &\times \int_0^\infty \dots \int_0^\infty \exp\left[i\left(\sum_{j=1}^{N-1} \alpha_j x_j^2\right)\right] \\
 &\times I_\nu(-i\beta''x_{N-1}x'') \prod_{j=1}^{N-1} I_{\nu_j}(-i\beta_j x_{j-1}x_j)(-i\beta_j)x_j dx_j \tag{5}
 \end{aligned}$$

with $\beta_j = M_j/\hbar\varepsilon$ and $\alpha_j = \beta_j(1 - \omega_j^2\varepsilon^2/2)$.

Unfortunately, equation (5) cannot be evaluated exactly at present. Here we consider only the case of $M(t)g(t) = K$ (constant), or $\nu = \nu_j = \frac{1}{2}(1 + 8K/\hbar^2)^{1/2}$. By repeatedly using the well known integral (Peak and Inomata 1969)

$$\int_0^\infty \exp(irx^2)I_\nu(-ipx)I_\nu(-iqx)x dx = (i/2r) \exp\left(-\frac{i(p^2 + q^2)}{4r}\right)I_\nu\left(\frac{-ipq}{2}\right) \tag{6}$$

for $\text{Re}(r) > 0$ and $\text{Re}(\nu) > -1$, we obtain from equation (5) the propagator of the form

$$K(x'', t''; x', t') = -i(x'x'')^{1/2} \lim_{N \rightarrow \infty} R_N \exp[i(P_Nx'^2 + Q_Nx''^2)]I_\nu(-iR_Nx'x'') \tag{7}$$

where

$$R_N = \beta_1 \prod_{j=1}^{N-1} (\beta_j/2\gamma_j) \tag{8}$$

$$P_N = (\beta_1/2) - \sum_{j=1}^{N-1} (B_j^2/4\gamma_j) \tag{9}$$

$$Q_N = (\beta_N/2) - \beta_N^2/4\gamma_{N-1} \tag{10}$$

$$\gamma_j = \alpha_j - \beta_j^2/4\gamma_{j-1} \quad (\gamma_1 = \alpha_1) \tag{11}$$

and

$$B_j = \beta_j \prod_{k=1}^{j-1} (\beta_k/2\gamma_k) \quad (B_1 = \beta_1). \tag{12}$$

By defining $\bar{a}_j = 2\gamma_j/\beta_j$, we obtain from (11) the following recurrence relation:

$$\bar{a}_j = 2(1 - \omega_j^2\varepsilon^2/2) - 1/\bar{a}_{j-1}. \tag{13}$$

Now by assuming that $\bar{a}_j = a_{j+1}/a_j$, we have

$$(a_{j+1} - 2a_j + a_{j-1})/\varepsilon^2 = -\omega_j^2 a_j - (M_j/M_{j-1} - 1)a_{j-1}/\varepsilon. \tag{14}$$

In the limit of $\varepsilon \rightarrow 0$, the above recurrence relation reduces to the following differential equation:

$$\ddot{a} + [\dot{M}(t)/M(t)]\dot{a} + \omega^2(t)a = 0 \quad a' = 0, \dot{a}' = 1. \tag{15}$$

We can also rewrite equations (8)-(11) in terms of a_j as

$$R_N = \beta'' \prod_{j=1}^{N-1} (1/a_j) - \beta'' a_1/a_N \tag{16}$$

$$P_N = (\beta_1/2) - (a_1^2/2) \sum_{j=1}^{N-1} (\beta_j/a_j a_{j+1}) \tag{17}$$

and

$$Q_N = (\beta_N/2)(1 - M''a_{N-1}/M_{N-1}a_N). \tag{18}$$

Taking $\epsilon \rightarrow 0$, we obtain the following limit values:

$$\lim_{\epsilon \rightarrow 0} R_N = M'b'/\hbar a'' \tag{19}$$

$$\lim_{\epsilon \rightarrow 0} Q_N = M''\dot{a}''/2\hbar a'' \tag{20}$$

and

$$\lim_{\epsilon \rightarrow 0} P_N = (M'/2\hbar) \lim_{\epsilon \rightarrow 0} \left(1 - (\epsilon/M') \int_{t'}^{t''} [M(t)/a^2] dt \right) = M'b''/2\hbar a'' \tag{21}$$

where $b = (a/\epsilon)\{1 - (\epsilon/M') \int_{t'}^{t''} [M(t)/a^2] dt\}$ satisfies

$$\ddot{b} + [\dot{M}(t)/M(t)]b + \omega^2(t)b = 0 \quad b' = 1, \dot{b}' = 0. \tag{22}$$

Substituting (19)-(21) into (7), we obtain the propagator

$$K(x'', t''; x', t') = [-iM'(x'x'')^{1/2}/\hbar a''] \times \exp\{(i/2\hbar a'')(M'b''x'^2 + M''\dot{a}''x''^2)\} I_\nu(-iM'x'x''/\hbar a''). \tag{23}$$

It can easily be shown that

$$a = (\eta's/\eta) \sin(\mu - \mu') \tag{24}$$

and

$$b = (\eta's/\eta)[\cos(\mu - \mu') + (\eta'/\eta') \sin(\mu - \mu')] \tag{25}$$

where $\eta = [M(t)]^{1/2}$, s and μ satisfy

$$\ddot{s} + [\omega^2(t) - \ddot{\eta}/\eta]s = 1/s^3 \quad s' = 1, \dot{s}' = 0 \tag{26}$$

and

$$s^2\dot{\mu} = 1 \quad \mu' = 1. \tag{27}$$

With the help of (24)-(27), the propagator (23) becomes

$$K(x'', t''; x', t') = [(M'M''\dot{\mu}'\mu''x'x'')^{1/2}/i\hbar \sin \phi] \exp\{(i/2\hbar)[(M'\dot{\mu}'x'^2 + M''\dot{\mu}''x''^2) \cot \phi + (\dot{M}'x'^2 - \dot{M}''x''^2)/2 + M''s''x''^2/s'']\} \times I_\nu[(M'M''\dot{\mu}'\mu'')^{1/2}x'x''/i\hbar \sin \phi] \quad (0 < \phi < \pi) \tag{28}$$

with $\phi = \mu'' - \mu'$.

Now, by considering (i) the number of zeros of $a(t)$ in $[t', t'']$ (Truman 1978), (ii) that the wavefunction is continuous at the points $(n+1/2)\pi$, and (iii) $I_\nu(-i\zeta) = \exp(-i\nu\pi)I_\nu(i\zeta)$ for $\zeta > 0$ (Rezende 1984), we have the propagator beyond caustics:

$$K(x'', t''; \phi \neq n\pi) = M_\phi [(M'M''\dot{\mu}'\mu''x'x'')^{1/2}/i\hbar |\sin \phi|] \exp\{(i/2\hbar)[(M'\dot{\mu}'x'^2 + M''\dot{\mu}''x''^2) \cot \phi + (\dot{M}'x'^2 - \dot{M}''x''^2)/2 + M''s''x''^2/s'']\} \times I_\nu[(M'M''\dot{\mu}'\mu'')^{1/2}x'x''/i\hbar |\sin \phi|] \tag{29}$$

for $(n-1)\pi < \phi < n\pi$ (n being zero or any integer), where

$$M_\phi = \exp[-i\pi(\nu+1) \text{ent}(\phi/\pi)] \tag{30}$$

is the Maslov correction factor and $\text{ent}(\phi/\pi)$ stands for the greatest integer which is less than or equal to ϕ/π . Taking $\sin \phi \rightarrow 0$, we finally obtain the propagator at caustics from (29):

$$K(x'', x'; \phi = n\pi) = (M' M'' \dot{\mu}' \dot{\mu}'')^{1/2} \exp[-in\pi(\nu + 1)] \\ \times \exp\{(i/2\hbar)[(\dot{M}'x'^2 - \dot{M}''x''^2)/2 \\ + M''\dot{s}''x''^2/s'']\} \delta[(M'\dot{\mu}')^{1/2}x' - (M''\dot{\mu}'')^{1/2}x''] \tag{31}$$

which can easily be reduced to $\delta(x' - x'')$ when $\phi \rightarrow 0$, as it should be.

For the case of $\dot{M}(t) = 0$ or $M(t) = m$, (28) becomes

$$K(x'', t''; x', t') = \frac{m(\dot{\mu}'\dot{\mu}''x'x'')^{1/2}}{i\hbar \sin \phi} \exp\left[\frac{im}{2\hbar} \left((\dot{\mu}'x'^2 + \dot{\mu}''x''^2) \cot \phi + \frac{\dot{s}''}{s''} x''^2 \right)\right] \tag{32}$$

which is in agreement with (39) of Khandekar and Lawande (1975) ($\dot{s}' \neq 0$ in their case) and the result in the appendix of Goovaerts (1975). (29) and (31) are, respectively, equivalent to (4.17) and (4.18) of Rezende (1984) as we expect. For $\nu = \frac{1}{2}$ (without an inverse square potential), we can also return to our previous results (Cheng 1985).

Finally, by using the Hille-Hardy formula (Erdelyi 1953)

$$\frac{1}{1-u} \exp\left(-\frac{(y+z)u}{1-u}\right) I_\nu\left(\frac{2\sqrt{yzu}}{1-u}\right) = \sum_{n=0}^{\infty} \frac{n! u^n}{(n+\nu+1)} (yzu)^{\nu/2} L_n^\nu(y) L_n^\nu(z) \quad (|z| < 1) \tag{33}$$

with $u = \exp(-2i\phi)$, $y = M''\dot{\mu}''x''^2/\hbar$ and $z = M'\dot{\mu}'x'^2/\hbar$, we obtain the wavefunctions from (29):

$$\psi_n(x, t) = \left(\frac{2(n!)}{(n+\nu+1)}\right)^{1/2} x^{\nu+1/2} \left(\frac{M(t)\dot{\mu}}{\hbar}\right)^{(\nu+1)/2} \exp[-i(2n+\nu+1)\mu] \\ \times \exp[(ix^2/4\hbar)(2M\dot{\mu} + \dot{M} + 2M\dot{s}/s)] \\ \times \exp\{-i\pi(\nu+1) \text{ent}[(\mu - \mu')/\pi]\} L_n^\nu\left(\frac{M(t)\dot{\mu}}{\hbar} x^2\right) \tag{34}$$

where $L_n^\nu(\)$ are the associated Laguerre functions and $\text{ent}[(\mu - \mu')/\pi]$ represents the greatest integer which is less than or equal to $(\mu - \mu')/\pi$.

As a final remark we should mention that, by using the linear space transformation (Cheng 1985)

$$y = (\xi'/\xi)x \tag{35}$$

with $\xi = [g(t)]^{1/2}$, the Lagrangian (1) becomes

$$L(\dot{y}, y, t) = \frac{M(t)g(t)}{2g'} \{ \dot{y}^2 + 2y\dot{y}\dot{\xi}/\xi - [\omega^2(t) - \dot{\xi}^2/\xi^2]y^2 \} - g'/y^2. \tag{36}$$

In doing this we transform the time-dependent term $g(t)/x^2$ into the time-independent term g'/y^2 . However, we still need consider the case of $M(t)g(t) = K = M'g'$, in order to transform the Lagrangian (36) into the solvable form

$$L(\dot{y}, y, t) = \frac{1}{2}M' \left[\dot{y}^2 - \left(\omega^2(t) + \frac{\xi\ddot{\xi} - 2\dot{\xi}^2}{\xi^2} \right) y^2 \right] - \frac{g'}{y^2} + \dot{H}(y, t) \tag{37}$$

with $H(y, t) = M'\dot{\xi}y^2/2\xi$. We will investigate the problem with more general space and time transformations and will report the results in due course.

Acknowledgments

We thank the referees for pointing out some errors and for valuable suggestions for improving the paper. One of us (BKC) would like to thank the Conselho Nacional de Desenvolvimento Científico e Tecnológico (CNPq) of Brazil for financial support under research fellowship no 301515-81/FA. This research work was also supported in part by dual funding from the National Science Foundation (NSF-EPSCOR) Grant No ISP-80-11447 and the state of Arkansas (FTC).

References

- Cheng B K 1985 *Phys. Lett.* **113A** 293–6
Erdelyi A (ed) 1953 *Higher Transcendental Functions* vol 2 (New York: McGraw-Hill) p 189
Feynman R P and Hibbs A R 1965 *Quantum Mechanics and Path Integrals* (New York: McGraw-Hill)
Goovaerts M J 1975 *J. Math. Phys.* **16** 720–3
Khandekar D C and Lawande S V 1975 *J. Math. Phys.* **16** 384–8
Landau L D and Lifshitz E M 1958 *Quantum Mechanics* (Oxford: Pergamon)
Peak D and Inomata A 1969 *J. Math. Phys.* **10** 1422–30
Rezende J 1984 *J. Math. Phys.* **25** 3264–9
Truman A 1978 *Feynman Path Integrals* ed S Albeverio *et al* (Berlin: Springer) pp 73–102